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=2 49,578,200 41,269,769 8,308,431
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Al H 3,801,700 3,160,344 641,356
2y 1,629,300 1,354,433 274,867
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2 48,879,000 40,633,000 8,246,000
Al H 3,801,700 3,160,344 641,356
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01 AHBIE & E 5 2 54,310,000 45,147,777 9,162,223
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2 48,879,000 40,633,000 8,246,000
AlH 3,801,700 3,160,344 641,356
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B AFZHI S 0 370,000 422,222 NB2,222
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2 333,000 380,000 A47,000
AlHI 25,900 29,555 £3,655
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SN IERHHE 4,000 60,000 56,000
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301 etE2H = 240,000 255,556 A 15,556
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01 Al 28X =02 240,000 255,556 A 15,556
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T Hl 311,614 177,974 133,640
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= 404,736 366,956 37,780
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